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Solve the missing elements for each problem. Use 3.14 for 11. Area = Tr F:C=7D
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1)

Radius: 10 inches

Diameter:

Circumference:

Area.

ps)

4)

O

Radius:

Diameter: 14 inches

Circumference:

Area:

—

7)

Radius:

Diameter: 18 inches

Circumference:

Area:

4/4 Weekend Lesson

~

2)

Radius:

Diameter: 36 inches

Circumference:

Area:

P4

5)

Radius: 11 inches

Diameter:

Circumference:

Area:

8)

Radius:

Diameter: 32 inches

Circumference:

Area:

O

3)

Radius: 6 inches

Diameter:

Circumference:

Area:

Radius:

Diameter: 16 inches

Circumference:

Area:

9)

®

Radius: 15 inches

Diameter:

Circumference:

Area:
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